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B BANEBRE NEELILSA=VY Ktz 158% %75 F4.0m & Korok
FOAANEHE NEELIILSA=VT Kftz 1518 100 F4.0m X Kok
B BANEBRE NEELILSA=VY Ktz 178% %150 &5.0m & Korok
OB ANEHE NEELIILSA=VT Kftz 1518 200  K5.0m X Frok
B BANEHRE NEELILSA=VY Ktz 158% 18250 &5.0m & Korok
FOAANEHE NEELIILSA=VT Kftz 1518 #2300  K6.0m X Kok
B BANEBRE NEELILSA=VY Ktz 178% %350 f6.0m & Kokok
FOAANEHE NEELIILSA=VT Kftz 1518 #2400  K6.0m X Kok
B BANEBRE NEELILSA=VY Ktz 178% 18450 6.0m & Kokok
oA NEHE NEELILSA=2T Kftz 1188 £500 K6.0m N kK
FOBANEHRE NEELILSA=2YT Kz 178% 12600 f&6.0m & sokok
oA NEHE NEELILSA=2T Kftz 1188 &700 K6.0m N Kk
FOBANEHRE NEELILSA=2YT Ktz 178% 12800 f6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 1188 %900 K6.0m N Kk
FOBANEHRE NEELILSA=2YT Ktz 178% %1000 f6.0m & Hokok
BOAANEHE NEELIILSA=VT Ktz 138% 121100 £6.0m N ook
FOBANEHRE NEELILSA=2YT Ktz 178% %1200 f6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 1188 %1350 f6.0m N Fkk
FORANEHBE NEELFILSA=VY Ktz 1#8& 121500 £6.0m A ook
FOBANGBHE NEELZINLSA=VT Ktz 1#8% 121600 &4 Om X , 170, 000
BV NESRE NEELILSA=2T Ktz 178% %1600 f&5.0m A . 440, 000
FOBANGEHRE NEELZLFA=VT Ktz 1#8% 121650 &4 .0m X , 240, 000
OB NEHRE NEELILSA=2T Ktz 178% %1650 f&5.0m A . 520, 000
FOBANGEHRE NEELZLFA=VT Ktz 1#8%& 121800 4. 0m X , 480, 000
BV NESRE NEELILSA=2T Ktz 178% %1800 f&5.0m A , 820, 000
FOBANGEHRE NEELZLFA=VT Ktz 1#8% 122000 4. 0m X , 800, 000
BV NESRE NEELINLSA=2T Ktz 178% 182000 f&5.0m A 2,210, 000
FOBANGEHE NEELZILFA=VT Kfz 1.5%8% %1600 F&4.0m x -
FORANEHE NEELFILSA=VY Kfiz 1.5%8% %1600 f5.0m PN -
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B A NESRE NEELINLSA=2T Kfiz 1.5%8% 121650 &4.0m & -
FOAANEHE NEELIILSA=VT Kfz 1.5 & 21650 K&5.0m x -
BH A NESE NEELINLSA=2T Kfiz 1.5%8% 121800 &4.0m & -
FOAANEHE NEELIILSA=VT K#z 1.5 & 21800 K5.0m X -
B A NESE NEELINLSA=2T Kfiz 1.5%8% %2000 &4.0m & -
B BANEHRE NEELILSA=VY Kftz 1.5%8% %2000 £&5.0m & -
FOAANEHE NEELIILSA=VT Ktz 258 #2400  K6.0m X Kok
B BANEBRE NEELILSA=VY Kftz 278% 12450 6.0m & Kokok
FOAANEHE NEELIILSA=VT Ktz 258 #2500 K6.0m X Kok
B BANEBRE NEELILSA=VY Kftz 278% 12600 f6.0m & Kokok
oA NEHE NEELILSA=2T Ktz 218 &700 K6.0m N kK
FOBANEHRE NEELILSA=2YT Kfiz 278% 12800 f6.0m & sokok
oA NEHE NEELILSA=2T Ktz 218 %900 K6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 278% %1000 f6.0m & Hokok
FORANEHE NEAELZILSA=VY Ktz 2f8& 121100 f6.0m N ook
FOBANEHRE NEELILSA=2YT Kfiz 278% %1200 f6.0m & Hokok
B RANEHE NEAELZILSA=VY Ktz 2f8& 121350 f6.0m N ook
FOBANEHRE NEELILSA=2YT Kfiz 278% %1500 f6.0m & Hokok
BHO A INESE NEELINLFA=2T Kfiz 278% 21600 4. 0m & , 040, 000
BOBANESRE NEELILSA=2T Kftz 278% 121600 f&5.0m A , 280, 000
FOBANGBHE NEELZINLSA=VT Ktz 288% 121650 &4 .0m X , 110, 000
BV NESRE NEELILSA=2T Kftz 278% %1650 f&5.0m A . 360, 000
FOBANGEHRE NEELZLFA=VT Ktz 288% 121800 4. 0m X , 290, 000
OB NEHRE NEELILSA=2T Kftz 278% %1800 f5.0m A . 580, 000
FOBANGEHRE NEELZLFA=VT Ktz 288% 122000 4. 0m X , 590, 000
BV NESRE NEELILSA=2T Kftz 258% 122000 f5.0m A . 950, 000
BOAANEHE NEELILSA=VT K#z 2.5%8% %1600 4. 0m N -
FORANEBHBE NEELFILSA=VYT K#z 2.5%% %1600 fFS5.0m PN -
FOBANGEHE NEELZILFA=VT Kfz 2.5%8% %1650 F&4.0m x -
FORANEHE NEELFILSA=VY Kfiz 2.5%8% %1650 f5.0m PN -




[ i EHEM ] STIE10A
8. B (BHEH
% ﬂr\ 3 B = & ﬁ's

B A NESRE NEELINLSA=2T Kfiz 2.5%8% 121800 &4.0m & -
FOAANEHE NEELIILSA=VT Kfz 2.5 21800 K5.0m x -
BH A NESE NEELINLSA=2T Kftz 2.5%8% 122000 &4.0m & -
FOBANGBHE NEELZLIA=VY Kfz 2.5 & %2000 K5.0m X -
OB ANEHE NEELIILSA=VT Ktz 3i8& 75 £4.0m X Frok
B BANEHRE NEELILSA=VY Kftz 358% %100  F4.0m & Korok
FOAANEHE NEELIILSA=VT Ktz 3ig& #2150 &5.0m X Kok
B BANEBRE NEELILSA=VY Kftz 358% 18200 f&5.0m & Kokok
FOAANEHE NEELIILSA=VT Ktz 3i8& 250 &5.0m X Kok
B BANEBRE NEELILSA=VY Kftz 358% %300 f6.0m & Kokok
oA NEHE NEELILSA=2T Ktz 318 %350 6.0m N kK
FOBANEHRE NEELILSA=2YT Kfiz 358% 12400 F6.0m & sokok
oA NEHE NEELILSA=2T Ktz 318 %450 K6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 358% 12500 f6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 3ig& %600 6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 358% 12700 f&6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 318 %800 K6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 358% 12900 f&6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 3ig& %1000 f6.0m N Fkk
FORANEHBE NEELFILSA=VY Ktz 3%8& 121100 £6.0m A ook
BOAANEHE NEELILSA=VT Kfiz 358% %1200 £6.0m N ook
FORANEHBE NEELILSA=VYT Ktz 3%8E 121350 F6.0m A ook
BOAANEHE NEELILSA=VT Kfiz 358% 11500 f&6.0m N ook
OB NEHRE NEELILSA=2T Kfiz 338% 121600 F4.0m & 964, 000
BHOBAINESE NEELINLFA=2T Kftz 338% #1600 f5.0m & 1,180, 000
BV NESRE NEELILSA=2T Kfiz 3%38% %1650 F4.0m & 1, 020, 000
BHOBAINESE NEELINLFA=2T Kfiz 338% %1650 f5.0m & 1, 250, 000
BV NESRE NEELINLSA=2T Kfiz 338% 11800 F4.0m & 1,190, 000
B BAINEHE NEAELIILSA=VY Kftz 3%8% %1800 f5.0m & 1, 460, 000
BHOANESRE NEAELILSA=2T Kfiz 3%8% 122000 &4.0m & 1. 500, 000
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B A NESRE NEELINLSA=2T Kfiz 3%8% 122000 £&5.0m S 1,830, 000
FOAANEHE NEELIILSA=VT Kfz 3.5 & 21600 F&4.0m x -
BH A NESE NEELINLSA=2T Kfiz 3.5%8% 121600 &5.0m & -
FOAANEHE NEELIILSA=VT Kfz 3.5 & 21650 F&4.0m X -
B A NESE NEELINLSA=2T Ktz 3.5%8% 121650 &5.0m & -
FOAANEHE NEELIILSA=VT K#z 3.5 & 21800 F&4.0m x -
BH A NESE NEELINLSA=2T Kfiz 3.5%8% %1800 &5.0m & -
B BANEBRE NEELILSA=VY Ktz 3.5%8% %2000 £4.0m & -
B A NESE NEELINLSA=2T Kfiz 3.5%8% 122000 £&5.0m & -
B BANEBRE NEELILSA=VY Kftz 438% 12600 f6.0m & Kokok
oA NEHE NEELILSA=2T Ktz 418 &700 K6.0m N kK
FOBANEHRE NEELILSA=2YT Kfiz 438% 12800 f6.0m & sokok
oA NEHE NEELILSA=2T Ktz 418 %900 K6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 438% 121000 f6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 418 #1100 £6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 438% %1200 f6.0m & Hokok
oA NEHE NEELILSA=2T Ktz 418 %1350 f6.0m N Kk
FOBANEHRE NEELILSA=2YT Kfiz 438% %1500 f6.0m & Hokok
BHO A INESE NEELINLFA=2T Kfiz 478% 21600 4. 0m & 890, 000
BOBANESRE NEELILSA=2T Kftz 438% 121600 f&5.0m A 1, 090, 000
FOBANGBHE NEELZINLSA=VT Ktz 4%8%& 121650 4. 0m P 954, 000
BV NESRE NEELILSA=2T Kftz 438% %1650 f&5.0m A 1, 160, 000
FOBANGEHRE NEELZLFA=VT Ktz 4%8%& 121800 4. 0m X 1, 120, 000
OB NEHRE NEELILSA=2T Kftz 438% 121800 f&5.0m A 1, 370, 000
FOBANGEHRE NEELZLFA=VT Ktz 4%8%& 122000 4. 0m X 1, 350, 000
BV NESRE NEELILSA=2T Kftz 438% 122000 f5.0m A 1, 650, 000
B BANEHE NEELZIILSA=VY Kfiz 4.5%8%-DA 72600 £&6.0m N ook
BV NESRE NEELINLSA=2T Ktz 4.5t % -DA_ %700 £6.0m & otk
FOAANEHE NEELZIILSA=VT Kitz 4.538% -DA %800 &6.0m A ook
BHOANESRE NEAELILSA=2T Ktz 4.5%% -DA %900 £6.0m & otk
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B A NESRE NEELINLSA=2T Kftz 4.5%8%-DA %1000 £&6.0m & sokok
B BANEBRE NEELILSA=VY Ktz 4.5t -DA %1100 £6.0m & Korok
BH A NESE NEELINLSA=2T Ktz 4.5%8%-DA %1200 £6.0m & sokok
B BANEBRE NEELILSA=VY Ktz 4.5%&% -DA %1350 £6.0m & Korok
B A NESE NEELINLSA=2T Ktz 4.5%8%-DA %1500 f6.0m & sokok
B BANEHRE NEELILSA=VY Ktz 4.5%% -DA %1600 f£4.0m A 787, 000
BH A NESE NEELINLSA=2T Ktz 4.5%8%-DA %1600 f&5.0m S 958, 000
B BANEBRE NEELILSA=VY Ktz 4.5%% -DA %1650 £4.0m A 840, 000
B A NESE NEELINLSA=2T Ktz 4.5%8%-DA %1650 f&5.0m S 1,020, 000
B BANEBRE NEELILSA=VY Ktz 4.5%% -DA %1800 f£4.0m A 996, 000
BOAANEHE NEELILSA=VT K#z 4.5 % -DA %1800 &5.0m X 1,210, 000
FOBANEHRE NEELILSA=2YT Ktz 4.5%&%& -DA %2000 f£4.0m S 1, 200, 000
BORANEBHE NEELILSA=VYT Kfiz 4. 588%-DA %2000 £&S5.0m & 1,470, 000
FOBANEHRE NEELILSA=2YT Kfiz 5% & -DB 2600 &6.0m & Hokok
FORANEHE NEAELZILSA=VY Kitz 5%8%&-DB 12700 £6.0m N ook
FOBANEHRE NEELILSA=2YT Kfiz 5% &-DB %800 &6.0m & Hokok
B RANEHE NEAELZILSA=VY Kitz 5%8%&-DB 12900 £6.0m N ook
FOBANEHRE NEELILSA=2YT Kfiz 5% & -DB %1000 f&6.0m & Hokok
B RANEHE NEAELZIILSA=VY Kitz 5%8%&-DB 121100 £6.0m N ook
FORANEHBE NEELFILSA=VY K#tz 548 &-DB %1200 £6.0m A ook
B BANEHE NEELIILSA=VY Kitz 5%8%-DB 121350 £6.0m N ook
FORANEHBE NEELILSA=VYT K#tz 5% & -DB %1500 £6.0m A ook
FOBANGEHRE NEELZLFA=VT Kfiz 5%8&-DB 21600 &4.0m X 723,000
OB NEHRE NEELILSA=2T Kfiz 5% &-DB %1600 £&5.0m A 879, 000
FOBANGEHRE NEELZLFA=VT Kfiz 5%8&-DB 21650 &4.0m X 773,000
BV NESRE NEELILSA=2T Kfiz 538 &-DB %1650 £&5.0m A 940, 000
FOBANGEHRE NEELZLFA=VT Kfiz 5%8&-DB 21800 &4.0m X 899, 000
BV NESRE NEELINLSA=2T Kfiz 538 &-DB %1800 £&5.0m A 1, 090, 000
B BAINEHE NEAELIILSA=VY Kftz 5%8%-DB #2000 f£4.0m .S 1,120, 000
BHOANESRE NEAELILSA=2T Kfiz 5%8&-DB %2000 £&5.0m S 1,370, 000
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B A NESRE NEELINLSA=2T T 158% 275  &A4.0m & sokok
B BANEBRE NEELILSA=VY TH 158% %100 F£4.0m & Korok
FOAANEHE NEELIILSA=VT TH 118% #2150 &5.0m X Kok
B BANEBRE NEELILSA=VY TH 158% 18200  F5.0m & Korok
OB ANEHE NEELIILSA=VT TH 118% 250 F&5.0m X Frok
B BANEHRE NEELILSA=VY TH 158% 12300 f&6.0m & Korok
FOAANEHE NEELIILSA=VT TH 118% #2350 K6.0m X Kok
B BANEBRE NEELILSA=VY TH 158% 12400  F6.0m & Kokok
FOAANEHE NEELIILSA=VT TH 118% #2450 K6.0m X Kok
B BANEBRE NEELILSA=VY TH 158% 18500 f6.0m & Kokok
oA NEHE NEELILSA=2T TR 1188 %600 6.0m N kK
FOBANEHRE NEELILSA=2YT TH 158% 12700  F6.0m & sokok
oA NEHE NEELILSA=2T TR 1188 %800 K6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 158% 12900  f6.0m & Hokok
oA NEHE NEELILSA=2T TH 1188 %1000 f6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 158% %1100 £6.0m & Hokok
oA NEHE NEELILSA=2T TR 1188 %1200 £6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 158% %1350 f6.0m & Hokok
oA NEHE NEELILSA=2T TH 1188 %1500 f6.0m N Fkk
BOBANESRE NEELILSA=2T TH 138% 121600 F£4.0m A , 220, 000
FOBANGBHE NEELZINLSA=VT TH 1#8E 121600 &5.0m X , 490, 000
BV NESRE NEELILSA=2T TH 138% 121650 F£4.0m A , 280, 000
FOBANGEHRE NEELZLFA=VT TH 1#8%& 121650 &5.0m P , 570, 000
OB NEHRE NEELILSA=2T TH 138% 121800 F4.0m A . 540, 000
FOBANGEHRE NEELZLFA=VT TH 1#8E 121800 &5.0m P , 890, 000
BV NESRE NEELILSA=2T TH 138% 182000 F4.0m A , 890, 000
FOBANGEHRE NEELZLFA=VT TH 1#8& 122000 &S5.0m P , 310, 000
FORANEBHBE NEELFILSA=VYT T# 1.5%% %1600 £4.0m PN -
FOBANGEHE NEELZILFA=VT TH: 1.5%8% %1600 &5.0m x -
FORANEHE NEELFILSA=VY TH 1.5%8% %1650 4. 0m PN -
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B A NESRE NEELINLSA=2T T 1.5%8% 121650 £&5.0m & -
FOAANEHE NEELIILSA=VT TH 1.5%E 21800 F4.0m x -
BH A NESE NEELINLSA=2T T#s 1.5%8% 121800 &5.0m & -
FOBANGBHE NEELZLIA=VY TH 1.5%8E 22000 F4.0m X -
B A NESE NEELINLSA=2T T#s 1.5%8% 122000 £&5.0m & -
B BANEHRE NEELILSA=VY TH 278% 12400  F6.0m & Korok
FOAANEHE NEELIILSA=VT TH 218% #2450 K6.0m X Kok
B BANEBRE NEELILSA=VY TH 258% 18500 f6.0m & Kokok
FOAANEHE NEELIILSA=VT TH 218% #2600 K6.0m X Kok
B BANEBRE NEELILSA=VY TH 258% 12700 f6.0m & Kokok
oA NEHE NEELILSA=2T TH 2188 %800 K6.0m N kK
FOBANEHRE NEELILSA=2YT TH 2578% 12900 f6.0m & sokok
oA NEHE NEELILSA=2T TH 2188 %1000 f6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 278% 121100 f£6.0m & Hokok
oA NEHE NEELILSA=2T TH 2188 %1200 £6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 2578% %1350 f6.0m & Hokok
oA NEHE NEELILSA=2T TH 2188 %1500 f6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 278% 121600 F4.0m S , 090, 000
oA NEHE NEELILSA=2T T 218E %1600 f£5.0m P , 330, 000
BOBANESRE NEELILSA=2T TH 2518% %1650 F£4.0m A . 150, 000
FOBANGBHE NEELZINLSA=VT TH 288%E 121650 &5.0m X , 410, 000
BV NESRE NEELILSA=2T TH 258% %1800 F4.0m A . 340, 000
FOBANGEHRE NEELZLFA=VT TH 288%E 121800 &5.0m X , 640, 000
OB NEHRE NEELILSA=2T TH 258% 182000 F4.0m A , 670, 000
FOBANGEHRE NEELZLFA=VT TH 288%E 122000 &S5.0m X , 040, 000
FORANEBHBE NEELFILSA=VYT TH 2.5%% 121600 F4.0m PN -
BOAANEHE NEELILSA=VT TH# 2.5%8% %1600 f5.0m N -
FORANEBHBE NEELFILSA=VYT TH 2.5%8% 121650 F4.0m PN -
FOBANGEHE NEELZILFA=VT THs 2.5%8% %1650 R5.0m x -
FORANEHE NEELFILSA=VY TH 2.5%8% %1800 4. 0m PN -
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B A NESRE NEELINLSA=2T T#; 2.5%8% 121800 £&5.0m & -
B BANEBRE NEELILSA=VY THs 2.5%8% 122000 £4.0m & -
BH A NESE NEELINLSA=2T T#s 2.5%8% %2000 £&S5.0m & -
B BANEBRE NEELILSA=VY TH 3%  &75 F4.0m & Korok
OB ANEHE NEELIILSA=VT TH 318 100 F4.0m X Frok
B BANEHRE NEELILSA=VY TH 3% %150 &5.0m & Korok
FOAANEHE NEELIILSA=VT TH 318 200  K5.0m X Kok
B BANEBRE NEELILSA=VY TH 3% 18250 F5.0m & Kokok
FOAANEHE NEELIILSA=VT TH 318 #2300  K6.0m X Kok
B BANEBRE NEELILSA=VY TH 3% 1350 f6.0m & Kokok
oA NEHE NEELILSA=2T TH 3i8%E %400  K6.0m N kK
FOBANEHRE NEELILSA=2YT TH 3%18%E 12450 F6.0m & sokok
oA NEHE NEELILSA=2T TH 3i8%E £500 K6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 3% 12600 f£6.0m & Hokok
oA NEHE NEELILSA=2T TH 318%E &700 K6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 3% 12800 f6.0m & Hokok
oA NEHE NEELILSA=2T TH 3i8%E %900 K6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 3% 121000 f6.0m & Hokok
oA NEHE NEELILSA=2T TH 318%E #1100 £6.0m N Fkk
FORANEHBE NEELFILSA=VY TH 3%EE 121200 £6.0m A ook
BOAANEHE NEELILSA=VT TH 3tEE 121350 £6.0m N ook
FORANEHBE NEELILSA=VYT TH 3%EE 121500 £6.0m A ook
B BANEHE NEELZIILSA=VY TH 3fEE 121600 F4.0m N ook
FORANEHBE NEELZILSA=VYT TH 3%EE 121600 FES5.0m A ook
B BANEHE NEELZIILSA=VY TH 3fEE 121650 F4.0m N ook
FORANEBHBE NEELFILSA=VYT TH 3%EE 121650 F5.0m A ook
B BANEHE NEELZIILSA=VY TH 3fEE 121800 fF4.0m N ook
FORANEBHBE NEELFILSA=VYT TH 3%EE 121800 FES5.0m A ook
FOBANGEHE NEELZILFA=VT TH JEE 22000 £4.0m x Fook
FORANEHE NEELFILSA=VY TH 3%E 12000 K5.0m S ook
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B A NESRE NEELINLSA=2T T 3.5%8% 121600 &4.0m & -
FOAANEHE NEELIILSA=VT TH 3.5%E 21600 K5.0m x -
BH A NESE NEELINLSA=2T T#; 3.5%8% 121650 &4.0m & -
FOAANEHE NEELIILSA=VT TH 3.5%E 21650 K5.0m X -
B A NESE NEELINLSA=2T T#; 3.5%8% 121800 &4.0m & -
FOAANEHE NEELIILSA=VT TH 3.5%E 21800 K5.0m x -
BH A NESE NEELINLSA=2T TH; 3.5%8% 122000 &4.0m & -
FOBANGBHE NEELZILFIA=VY TH 3.5%E 22000 K5.0m X -
FOAANEHE NEELIILSA=VT TH 418%E #2600 K6.0m X Kok
B BANEBRE NEELILSA=VY TH 438% 12700  F6.0m & Kokok
oA NEHE NEELILSA=2T TH 418%E %800 K6.0m N kK
FOBANEHRE NEELILSA=2YT TH 438% 12900  F6.0m & sokok
oA NEHE NEELILSA=2T TH 418%E %1000 f6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 438% %1100 £6.0m & Hokok
oA NEHE NEELILSA=2T TH 418%E %1200 £6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 438% %1350 f6.0m & Hokok
oA NEHE NEELILSA=2T TH 418%E %1500 f6.0m N Kk
FOBANEHRE NEELILSA=2YT TH 438% 121600 F4.0m & Hokok
oA NEHE NEELILSA=2T TH 418%E %1600 f£5.0m N Fkk
FORANEHBE NEELFILSA=VY TH 458E 121650 F4.0m A ook
BOAANEHE NEELILSA=VT TH 418%E 121650 £5.0m N ook
FORANEHBE NEELILSA=VYT TH 45EE 121800 F4.0m A ook
BOAANEHE NEELILSA=VT TH 418%E 121800 £5.0m N ook
FORANEHBE NEELZILSA=VYT TH 45EE 122000 F4.0m A ook
FOAA N EHE NEELILSA=2Y TH 458%E %2000 f5.0m S KKk
BV NESRE NEELILSA=2T T 4.5%% DA %600 £6.0m & otk
B BANEHE NEELZIILSA=VY THz 4.5%8%-DA 12700 £&6.0m N ook
BV NESRE NEELINLSA=2T Tz 4.5%% DA %800 £6.0m & otk
B BAINEHE NEAELIILSA=VY TH 4. 58%-DA 2900 £6.0m & ok
BHOANESRE NEAELILSA=2T Tz 4.5%8% -DA %1000 £6.0m & otk
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B A NESRE NEELINLSA=2T THz 4.5%8%-DA %1100 £6.0m & sokok
B BANEBRE NEELILSA=VY T 4.5%% -DA %1200 £6.0m & Korok
BH A NESE NEELINLSA=2T THs 4.5%8%-DA %1350 f6.0m & sokok
B BANEBRE NEELILSA=VY T 4.5%% -DA %1500 £6.0m & Korok
B A NESE NEELINLSA=2T THs 4.5%8%-DA %1600 F4.0m S 775. 000
B BANEHRE NEELILSA=VY THs 4.5%&% -DA %1600 £5.0m A 939, 000
BH A NESE NEELINLSA=2T THs 4.5%8%-DA %1650 £4.0m S 826. 000
B BANEBRE NEELILSA=VY THs 4.5%% -DA %1650 £&5.0m A 1, 000, 000
B A NESE NEELINLSA=2T THs 4.5%8%-DA %1800 £4.0m S 984, 000
B BANEBRE NEELILSA=VY T 4.5%&% -DA %1800 £5.0m A 1,190, 000
BOAANEHE NEELILSA=VT TR 4.5 % -DA %2000 £4.0m X 1,200, 000
FOBANEHRE NEELILSA=2YT Tz 4.5%&% -DA %2000 £5.0m S 1, 460, 000
FORANEHE NEAELZIILSA=VY TH 51E%-DB {2600 £6.0m N ook
FOBANEHRE NEELILSA=2YT TH 5%E-DB 2700 &6.0m & Hokok
FORANEHE NEAELZILSA=VY TH 51E%-DB 12800 £6.0m N ook
FOBANEHRE NEELILSA=2YT TH 5%E-DB 2900 &6.0m & Hokok
B RANEHE NEAELZILSA=VY TH 51E%-DB 121000 £6.0m N ook
FOBANEHRE NEELILSA=2YT T 5%E-DB 21100 £&6.0m & Hokok
B RANEHE NEAELZIILSA=VY TH S51EE-DB 121200 £6.0m N ook
FORANEHBE NEELFILSA=VY TH 5%E-DB 21350 £6.0m A ook
BOAANEHE NEELILSA=VT TH# S51EE-DB 121500 £6.0m N ook
BV NESRE NEELILSA=2T TH 5%8E-DB 21600 £4.0m A 713,000
FOBANGEHRE NEELZLFA=VT THs 5%E-DB 21600 £&5.0m X 862, 000
OB NEHRE NEELILSA=2T THs 5%8E-DB 21650 £4.0m A 761, 000
FOBANGEHRE NEELZLFA=VT THs 5%E-DB 21650 F&5.0m X 922, 000
BV NESRE NEELILSA=2T THz 5%8E-DB 21800 £4.0m A 893, 000
FOBANGEHRE NEELZLFA=VT THs 5%E-DB 21800 £&5.0m X 1, 080, 000
BV NESRE NEELINLSA=2T THz 5%8E-DB %2000 £4.0m A 1,130, 000
B BAINEHE NEAELIILSA=VY THs 5%8%-DB %2000 £5.0m .S 1, 360, 000
FORANEHE NEELFILSA=VY KAtz 5% -DB #2300 6. 00m S ook
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BOBANEBHE NEELILSA=VYT Kftz 5% -DB 12350 f&6.00m & ok
BOAANEHE NEELILSA=VT K#,  5%&-DB %400 £6.00m S Aok
BORANEBHE NEELILSA=VYT KAtz  5%&-DB 12450 f&6.00m & ok
BOBANEHE NEELILSA=VT K#,  5%&-DB %500 £6.00m S ok
BORANEBHE NEELILSA=VY TH,  5%&-DB 12300 f6.00m & ok
BORANEHE NEELILSA=VT T#  5%&-DB %350 &6.00m S ok
BORANEBHE NEELILSA=VYT T,  5%&-DB 12400 £6.00m & ok
BOBANEHE NEELILSA=VT T# 5% -DB %450 £&6.00m S ok
BOBRANEBHE NEELILSA=VYT TH,  5%&-DB 12500 f6.00m & ok
BORANEHE NEELILSA=VT T#  DC #%1600 £4.0m P 697, 000
BOBRANEBHE NEAELILSA=VT T#  DC #21650 £&4.0m PN 747,000
B BANEHRE NEELILSA=VY T#  DC %1800 £4.0m P 879, 000
BORANEBHE NEELILSA=VYT T#  DC 22000 £4.0m PN 1,090, 000
B BANEBE NEELILSA=VY T# DD #2800 £6.0m & ok
BORANEBHE NEELILSA=VT TH DD #2900 £6.0m & ok
BOBANEBE NEELILSA=VY T# DD #%1000 £6.0m & ok
BORANEBHE NEELILSA=VYT T# DD #21100 £6.0m & sokok
BOBANEBE NEELILSA=VY T# DD #%1200 £6.0m & ok
BORANEBHE NEELILSA=VT T# DD #21350 £6.0m & sokok
FOIANGBHE NEELZILFA=VY T# DD 121500 4&6.0m P Aok
BOAANEHE NEELILSA=VT T# DD #21600 £4.0m X 656, 000
BOBANEESBE NEELILSA=VY T# DD #%1650 £4.0m P 703, 000
BOAANEHE NEELILSA=VT T# DD #21800 £4.0m X 832, 000
BOBANEEBE NEELILSA=VY T# DD #%2000 £4.0m P 1,010, 000
BOAANEHE NEELILSA=VT Kfz DD %800 &6.0m & ook
FOAANGBHE NEELZILZA=VY Kf2 DD 12900 4&6.0m P Aok
BORANEHE NEELILSA=VT KF, DD #21000 £6.0m & sokok
FOIANGBHE NEELZILFA=VY Kf2 DD 121100 4&6.0m P Aok
BOAANEHE NEELILSA=VT KF, DD #21200 £6.0m P ook
FOAANEHE NEELIILZA=VY Kfz2 DD %1350 4&6.0m A Aok
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BORANEEHE RNEELZIILSA=YT K2 DD #1500 £&6.0m N Fokok
FHOBAIEHKE NAEILZILSAZVT K DD %1600 £4.0m Z:N 659, 000
BORANEEHE RNEELZILSA=YT Kitz DD #1600 £5.0m N 796, 000
FHOBAIEHKE NAEILZILSAZVT K DD %1650 £4.0m Z:N 708, 000
BORANEEHE RNEELZILSA=YT Kitz DD #1650 £&5.0m N 857,000
FHOBAIIEHKE NAEILZILSAZVT K DD %1800 £4.0m Z:N 829, 000
BORANEEHE RNEELZILSA=YT Kitz DD #1800 £&5.0m N 1,000, 000
FHOBAIEHKE NAEILZILSAZVT K DD %2000 £4.0m Z:N 1, 000, 000
BORA)NEEHE RNEELZILSA=YT Kitz DD %2000 £5.0m N 1,200, 000
EANS GHES

5584 \BHEREANS KIS R@AL b - TL8H ET5 % st
084\ BHEREANS KIS REAL b - S L8 E100 il bk
SH 84 N ERERELNS Kip#REartL b - S L8 150 % st
084\ BHEREANS KIS REAL b - S L8 200 il bk
5584 \BHEREANS KipREatL b - S L8 2250 % st
084\ BHEREANS KIS REAL k- S L8 300 il bk
SH 84 N ERERELNS KipREartL b - S8 2350 % st
084\ BHEREANS KIS REAL b - S L8 400 il bk
5584 \BHEREANRS KipREartIL b - S8 2450 % st
084 L BHEREANS KipREIL b - I L8 500 il bk
084\ BHEREANS KISREAIL b - T L8 #2600 % b
084 L BHEREANS KRs#stL b - 5 L8 2700 il bk
084\ BHEREANS KIS#REAL b - T L8 #2800 % b
084 L BHEREANS KisREIL b - T L8 900 il bk
084\ BHEREANS KIREAL b - S48 1000 % b
084 L BHEREANS KRt b - S48 1100 il bk
084\ BHEREANS KISREAL b - TL8  F1200 % b
084 L BHEREANS KRs#EtoL b - = A8k 21350 il bk
U4 )N U ERESISR KiziBemA)L b - TLE %1500 #8 *Kokok
S84 L GHEREANS Kis#RsrtL b - S L8 1600 e 156. 000
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555 A NBBEREENE KEBSAAL b - LK 21650 # 164,000
5054 N BBREBEENE KEBGAAL b - LK 21800 # 187,000
55 54 N BBEREENE KEBSAAL b - LK 2000 # 225000
BB (HREE)

505 A L BREBEE Kl 600 60° WA sl R % -
5 5 A L BBEEE K 700 60 AEARMIESE ZS -
505 A L BREBEE Kl @800 60° WA mhs R % -
5 54 L BEEE K 2900 60 MEARMIESE ZS -
505 A L BREBEE Kl 21000 60 PVE A ALisHEE%E % -
5 5 A L BBEEE K 21100 600 AEAAMSIESSE ZS -
505 A L BHEBBE K 21200 60° WA AAIEEE % -
50 5 A LHBERBE Kl 1350 60° WA AMBIEEE % -
505 A L BHEREE K 1500 60° WA AAiIEEE % -
50 5 A LHBERBE Kio %600 30 ME ARSI % -
505 A L BHEBBE K 87100 30 AEAREES % -
50 5 A LHBERBE Kio %800 30 ME ARSI % -
505 A L BHEREE Ki B0 30 AEAREESE % -
50 5 A LHBERBE Ko 1000 30° e s % -
505 A L BHERBE K 1100 30°  WEemies % -
50 5 A LB ERBE K %1200 30°  WEe s & -
505 A L BHERBE K 1050 30°  mEAmLLE % -
50 5 A LB ERBE K %1500 30° WA msieR & -
¥ O3NS BB & B 1% 15 8 -
¥ D14NSHERE R BT £ 8 T 100 # -
¥ O3NS B & B #2150 @ -
¥ D14NSHERE R BT £ 8 T 200 # -
¥ O3NS B & B T 2250 @ -
¥ OISR E BB 8 (2B 54 F) ki @15 # -
¥ OMIEEE MER L S8 (B8 (D) K100 8 _
¥ OISR EBRBL S8 (2B 54 D) K150 # -
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£ ﬂ w s = &
¥ MM E R 8 (2ES A T) ki ££200 4 -
5 MR E BB 28 (2ES4 F) Kfy %250 4 -
§ NS E R £ 8 (2ES A T) Kiz_ #2300 4 -
5 MR E AR 28 (2ES4 F) ki, %350 4 -
§ NS E R £ 8 (2B S A T) ki #2400 4 -
5 MR E BB 28 (2ES4 F) ki, 450 4 -
§ NS E R £ 8 (2ES A T) Kiz_ #2500 4 -
5 MR E BB 28 (2ES4 F) ki 600 4 -
§ NS E R £ 8 (2B S A T) Kiz_ #2700 4 -
5 MR E BB 28 (2ES4 F) ki, %800 4 -
5O E R 28 ($ES4 F) ki #2900 4 -
b 99N PR & B T# 850 4 -
b DN PRI S 8 T _#&75 4 -
b 99N PR L S B TH 100 4 -
b 99N PRI S 8 TH 150 4 -
b DIV PRI L S B TH 2200 4 -
b DN PRI S 8 TH 250 4 -




